MRATETE (1HH)

Yiviyg

HH |MEH[ R 1T = = B %
1H
9:00 |44 THAE MRIGHEE
6 | AK|11:00 |EFRZELR YRS
14:30 | B ={f] 8 THHTA R Z HT e T IR A S RTNT =7V vy 2 B
7 | K| 9:00 [4HITEAE MREILHESE
8 | 4| 10:00 | 4¥THEAE RS
9 4| 9:30 1 Y BG A= B b R ) 1B o i k355
13:00 | h vy 7T AV — FonbWRItFEY v h—H=E[hY v —5;
1o | glto:s0 BN AMES (5 150D TR e IR EAE
11:45 I (5 2 EB) U
11| A
RAD B
Lo | g | 9:00 HESE Btz o 2 —
10:30 |BUR R EFA TR I ZE S [ e
13 | /K
14 [ K
15 | 4 [13:00 BAKRRA B IEE R SR ES AT
T 14:00 [ R =TT R SR BAETH T
16 | £
17 | H
18 | A 9:00 My TPEEEET MREILEESE
19 [ K |14:00({T—127F5>7V2020BFHEIA L E2EX|THES
20 | 7K | 10:00 | &)1 T 4851 T i 55 e s S 2 Fp E 52 Y MR
21 | K
22 | &4
23 | L1630 =@ A7 == v 7 2AREE BIHD A Y fiERE | BE TR B
24 | H
25
26 |k




MRATETE (1HH)

HH |MEH[ R 1T =+ =
1H
27 | K
28 | K
29 | 4] 9:00 |3 AMIEPEATE T asE =
30 | 2| 14:00 (Bt < I — THIAGHIER ) RIS
31 [ H|11:00 | B 1= =EG SRS MR 74
2 H
1| | 9r00 R Bisiite o —
13:30 |8)11THEL S =5 EEWEA=R
2 | k| 15:00 [ )T EZEBBRHEKE RVHES A=
3 | K| 13:30 [B)IIKIRIESFRES R
4 N
5 | 4 | 15:00 (BT G HAH S MR 7%
6 |+t
7 H
8
9 | k| 10:00 [ = AN0E AR ERIS EETES
10 | /K [ 10:00 [ =3 A IEGHE A E B2 EETES
11 | A&
gEm&DA
12 | 4| 13:30 |5 20 A% 1 i i 1o 0 L Jake ol Ao R
13 | £
14 | H
15| A 9:0 [HESZ Bhskt o & —
16 | K |[10:00 [BJlITHZEE7E B Y HaE T RS ARINEHE=R
17 | & |[10:00 [EHIEES R R4 FHEE




